CTL1- AUTONUMLGL  \* Arabic 
A superball is dropped, falls straight down, strikes a concrete floor, and bounces straight back up.  Assume that the bounce is "perfectly elastic", which means that the speed just after the bounce is the same as the speed just before the bounce.  
Which graph below correctly shows velocity vs. time?  
(Notice that up has been chosen as the positive direction.)
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Which graph below correctly shows acceleration vs. time?
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Lab 1 Prelab: 
The acceleration due to gravity along an incline of angle  is 

a  = g sin.
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